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KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name KVS KR TGT Maths

Exam Date & Time 14-02-2023 09:00:00

Subject : GE_Q01-Q10_KRTGTMATH
Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.
(a) tragedy on himself

(b) Hamlet brings

(c) at the right time

(d) by not taking the right decision

(1) (a) (d) (b) (c)
(2 (9) (a) (b) (d)
(3) (b) (@) (d) (c)
(4)  (d) (a) (c) (b)
Options:-

.1, OptionID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
A volley of stones hit the police force.

(1) The police force is sure to be hit by a volley of stones.

(2) Itwas a volley of stones that hit the police force.

(3) The police force has been hit by a volley of stones.

(4) The police force was hit by a volley of stones.

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8

Question ID:- 3



https://aview.in/
https://aview.in/category/previous-papers/

Fill in the blank with the correct preposition.

The baby was clinging her mother due to fear and anxiety.
(1) in

(2) from

(3) to

(4) with
Options:-

.1, Option ID :- 9,
. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

Identify the correct tense form of the underlined part in the given sentence.
I had finished writing the letter when he arrived.
(1) Past Perfect Continuous

2) Simple Past

(
(3) Present Perfect
(4) Past Perfect

Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 4, Option ID : -16

Question ID:- 5

Change the following sentence from Direct Speech to Indirect Speech.

The wayfarer said to the policeman, “Which is the way to the railway station ?’

(1) The wayfarer asked the policeman which was the way to the railway station.

(2) The wayfarer asked the policeman which the way to the railway station was.

(3) The wayfarer asked the policeman the way to the railway station.

(4) The wayfarer asked the policeman that which was the way to the railway station.

Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 1, Option ID : -17

Question ID:- 6
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Identify the part which contains an error.

(1) (2) (3)
Options:-
.1, Option ID :- 21,
. 2, Option ID :- 22, 1 x
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Beside being fined, / the erring student / was also expelled / from the school.

(4)

Question ID:- 7

Choose the word nearest in meaning to the given word.
DERISIVE
(1) critical

(2) emotional
(3) angry

(4) mocking
Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 4, Option ID : -28

Question ID:- 8

TRANQUIL
(1) rough
(2) violent
(3) agitated
(4) peaceful

Options:-

.1, Option ID :- 29,
. 2, Option ID :- 30, 3
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 4, Option ID : -32

Choose the word opposite in meaning to the given word.

Question ID:- 9
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Identify the Part of Speech of the underlined word.

Jogging is a not good exercise, especially for the senior citizens.

(1) Verb

(2) Adverb

(3) Noun

(4) Conjunction

Options:-
.1, Option ID :- 33, x
. 2, Option ID :- 34,

. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Identify the clause in the underlined portion of the given sentence.

He who exercises daily leads a healthy life.

(1)  Noun Clause

2)  Adjective Clause
3) Principal Clause
4)  Adverb Clause

(
(
(

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38, 2
. 3, Option ID :- 39,
. 4, Option ID :- 40,

Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_KRTGTMATH

Question ID:- 11

e feu 1T ey i saTgde afen 3T SHeR SMUR W feu MU uvH & ST df
HHER-T31 & SHa=a =gaed | foom e gl €1 9 sAfeafa &1 @aaar & Siad 356 ¢ |

HHTER U 379+ HUCehd a2 FHEMTE faval W fad 1u 3= or@l o g1 ieshi o fdaq &1 faun 2d €, 39

TRTEF TG €, AN & & § SAElded &l &l FUd © | 39 YRR SH e o 9fFd geun o9 €

THFER-Y3 ¥ Y13 Fl 51 Ygah feun et 82

(1) g% Tien

(2) WIA-HHER

(3) HURHMA

(4) fagro=
Options:-

.1, Option ID :- 41,
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« 2, Option ID :- 42,
. 3, Option ID :- 43,

- 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

et feu 7T TR R saYde ufeu 3T 36 3R W feu T uve @1 SR it
THER-T31 &1 SHaHa Hae 9 favm ofaem St @1 9 sifveafa &t A & sidd 38e )

TR U3 A9 HUEHh T 941 A faudi v ford U 211 i@l o g Uideh] o 9 o1 fqen <d €, 39

SFTEF FATd &, AR & ®9 § STEIIe & a9 FOd € | 39 FHR 39 SHad H 9hEET 989 59 21

HURHT IR FHEmiTes faudl W yHiE HER-93 % @@ IS i oF T ©

(1) wifafo=
(2) TAsffe
(3) @ifg®
(4) SINTEER
Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13

el fau 1T Teny i saEes ufeu 3T SHeR MU W faU T U9 w1 ST ST
YHER-TA1 &1 SaAd Fewl § favm ot Sl €1 9 stfveafa &l wEdaar o Sidd [ew €1

TR 93 39+ GUeeh 2 91 geamie faedi w fawd e o= ol o g uieei & fHaq 1 fawn < € 39

WS &A1 €, ARE & 9 H TTEFE H o4 FUA © | 36 YR W S H 9 Gevrit o1 €

it e | frafafaa § 9 et fada yfgw 82

() e
(2) <difasH
(3) HHER-9A
(4) FIH
Options:-

.1, Option ID :- 49,
. 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14
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et fau 1T e i saegEe afen 3T SHeR SMUR W fEU MU U9 &1 ST i

HHER-TA1 &1 SHas =ae 1 faom sfte g €1 9 stfyeaf #1 @aaar & Siad 5@ ¢
HHER 93 A9+ HUGeh 2 921 FHAM S fa9d W o T 37 <@l o g1 Uidehi o T=idq ol feun <d €, 39
SFTEF FATd &, AR & ®9 § STEIEe o &9 FOd € | 39 FhR 39 SHad H 9hEET 9ear 59 e 2

HHER-YA UIEeh] hl AR & &Y H ITCEIEE o a8 FHU a3 § & 990 @ 2
(1) Herd

(2) EHMSK HAgEI
(3) WAl

(4) Hfra FEuEl
Options:-

.1, Option ID :- 53,

. 2, Option ID :- 54,

. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15

et feu 1T ey i saTegEe gien ST SHeR STUR W feu T ueH &1 ST i

HHER-TA1 & SHaad ae 5 foum e 8l € | 9 SAfyeafe &1 aaar & Sied 6@ ¢ |
THTER 931 79 H9Teeh 2 a1 Feamiges faudi w ford mu e ol o g uieehi o feaq o1 fewn <d €, 39
SR FA1d &, AR & B9 § STalHe 1 &9 U € | 39 ThR 39 SHad o GhRT 9ear 59 e 2
Frfafad § #F-91 79 87 § 2
(1) SfEd - wsitg
(2) HHfEFF - FAEHTR
(3) SuETE - AT
(4) Hfspa - ffera
Options:-
.1, Option ID :- 57,
. 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16
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Frefafed deqm/agye e | HET €

(1) @13 - &R

(2) &R - HATER

(3) =M - FH&

(4) 9 - FH
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 4, Option ID : -64

Question ID:- 17

Frfafea # qoers o 4 &
(1) e

(2) e

(3) wEE™

(4 Tl

Options:-
.1, Option ID :- 65,

. 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

freafafea | ' sie feamn’ gee =1 w8l s1d 1

(1) fagr

(2) HraETE

(3) Tk 9 SHN HE

(4) Herd T
Options:-

.1, Option ID :- 69,
. 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 19
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Frefafad § =sH-gf arer v =& &

(1) feom
(2) &G
(3) S
(4) STTEHT
Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20

Frefafaa | Sifqares H3 s 76 € :
(1) WEwHEA
(2) HI™A
(3) usft
(4)
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_KRTGTMATH

Question ID:- 21

Who among the following authors was been selected for the Sahitya Akademi Award, 2022 in
Bodo language ?

(1)  Rashmi Choudhury

(2) Sunil Phukan Basumatary
(3) Nandeswar Daimary

(

4) Adaram Basumatary

frefafad 5 9§ forg oigs = are) v § gifeey sreeH! qUeRR, 2022 % forg g7 T ?

(1) e e

(2) He R AR

(3) FaYa SITHA

(4) STCRTH STHART 7( @
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Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

Which of the following cities in the world is also known as the ‘Peace Capital” ?
(1) Athens

Geneva

2) St Petersburg
3)
4)  Jerusalem

(
(
(

frefafes § ¥ forg wig 1 fava &1 ‘g Sfaea’ i w5 S g ?

(1) T&H

(2) e diedsH

(3) St

(4) ALIEH
Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

The provision related to which of the following Commissions was inserted into the Indian
Constitution through the Constitution (Ninety-ninth) Amendment Act, 2014, which was later
struck down by the Supreme Court ?

(1) Planning Commission

(2) National Commission for Minorities

(3) National Judicial Appointment Commission
(4) Commission of Inquiry

Hfgum (F=maat) geneq sifufqay, 2014 F 9 9 vrd & SfgyE | feg s &) efafds fwa mn
o o189 918 § S=aH =aArerd g 168 L foan m o ?

(1) AT SR

(2) UL HCTHEAH AR
(3) s =nfae FEfa s
(4) ST ST
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Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24

Consider the following statements :

(@) A Government of India initiative - India International Skill Centre (IISC) Network - is a
fee-based market driven model.

(b) IISC Network caters to the needs of Indian Companies demanding foreign manpower and
expertise.

Choose the correct answer from the codes below :
(1) (a) is correct but (b) is wrong

(2) (a) is wrong but (b) is correct
(3)

(

4) Neither (a) nor (b) are correct

Both (a) and (b) are correct

Frafafad sweE 1 foar Fifaa
(a) WA HEHR &1 TF T8 — siedl seiema fiha Hex ([1SC) edsh — T Yook AR Jei i
Hied 2|

(b) TISC “eae fagelt sufe iR fadrmar & =i w7 aefl Mg Ui ! Sl ol g0 Sl ¢
= feu U e | Wl I 1 =TI A ;
(1) (a) 5E & fohg (b) Tom &

) (a) o & fR (b) TR €

(2 (a)

(3) (a) 3R (b) S WET ©

(4) () @R (b) ST H | 7 ot W T ><
Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

- 4, Option ID :- 96,
Answer Given:- 3, Option ID : -95

Question ID:- 25
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Consider the following statements regarding states in India
(a) Nagaland was created as a separate state in 1963

(b) Manipur and Mizoram were granted statehood in 1987
(c) Tripura and Meghalaya were granted statehood in 1972
Choose the correct answer from the codes below :

(1) only (a)
(2)  only (a) and (b)
(3) only (a) and (c)
(4) only (c)

e T % fawa 1 frefafes w0E = faar #@ife
(a) @Y 1963 | AFMAS %l Teh Gk T S1A1 T
(b) AfrgR R fsicg 1 1987 | w1 =1 <& o 7w
(c) T s Hemera =1 1972 H T w1 et fean
e feu U e 9 Il I A AT R

(1) e (a)

(2) e (a) AR (b)
(3) e (a) IR (c)
(4) e (o)

Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26

What are jet streams ?

(1)  One of the techniques of land formation within the shelter belt method of soil conservation
2) An apparant force caused by the earths rotation

3) Tidal force experienced by mangrove vegetation

4)  Narrow belt of high altitude westerly winds

(
(
(
e YR 1 E 2

(1) T2 H&0 &1 Geal ae2 fafy (shelter belt method) & $Id¥ -T=A1 &1 T qe-ih
) geat % gy ¥ I Tos o

) S SEIfd gRI STHYd SR Fd
4) STl S el ufvEE gaell ot Rl

(2
(3
(

Options:-
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.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

Question ID:- 27

Consider the following statements regarding Nayan Moni Saikia :

(@) She is an Arjuna Awardee, 2022

(b) She is a Gold Medal (Team) winner in Commonwealth Games 2022
(c) She is a Silver Medal (Team) winner in Asian Championship, 2018
Identify the correct answer from the codes given below :

(1) (@) only

(2) (a) and (b) only
(3) (b) and (c) only
(4) (a) and (c) only

T Tt S % gey H Frefafe s w faEr S
(a) =& ¥ 2022 F TS YRR fastar §

(b) IE UszHed Wel 2022 § wWoives (29) fosiar €

(c) e ufer <ftemfer, 2018 ¥ Sidues () fasiar €

(1) 9 (a)

(2) Fd (a) 3R (b)

(3) e (b) I (o)

(4) A (a) ¥R (0)
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 28

Which of the following is not a factor responsible for storage losses in agricultural produce ?
(I) Mites

( Bacteria

(3) Fumigation using chemical

(4) Inappropriate moisture and temperature in the place of storage
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F9 3 § Werw aifq & fau fre=fafas § 9 9 91 R saert 748 € 2
(1) FH

(2) SfEmg

(3) THEA H YA Fh YHIH

(4) HSRU I SFTE H, YUY TH SR q9HH

Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
« 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29

Which of the following examples most appropriately represents the “Versatility” characteristic of
the computer ?

(1) Calculation and generation of salary slips of thousands of employees of an organisation
(2) Result of division of any two numbers up to 10 decimal places

(3) Performing long and complex calculations with the same speed and accuracy from the start
till the end

(4) At one moment one can use the computer to prepare a letter document and in the next
moment one may play music or print a document

Trefafad § 9§ F | 8@ FFgR i Fgfawdal’ (Versatility) Hedl faRmar w1 waifes @& @l 4
Sl & 2

(1) ot T & &SR SFHAICEl o 69 1 TUET 1 SR Aq1 -9 S T

(2) Torei <1 demeli & vIATHe % OO w1 10 SIHEd T T S

(3) IRY Y 3q TF AR Seat el w1 guE i iR ufersar ¥

(

4) U 07 § TR 1 YAN UH U a9F H HE1 SN GO 207 S Gt S A1 i etehe fiT
FAAT|

Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 4, OptionID : -116

Question ID:- 30
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Which among the following is not correctly matched regarding Indian Navy’s exercises with Foreign
Navies ?

List - I List - II
(Name of the exercise) (Countries involved)
(1) Bongosagar India and Bangladesh
(2) SLINEX 22 India and Sri Lanka
(3) Exercise Varuna 2022 India and Australia
(4) JIMEX 22 India and Japan

TR R ) faestt el % wy st % ey Frafafed 9 9 @ gafed @8 82
-1 -1
( BT HT 1T ) ( vt <)
(1) SFErR TRA IR =y

Options:-
.1, Option ID :- 117,

« 2, Option ID :- 118,
. 3, Option ID :- 119,

- 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Subject : RA _Q31-Q35_KRTGTMATH

Question ID:- 31

The given question is based on the following information :
A # B means ‘A is father of B’;

A & B means ‘A is mother of B’;

A @ B means ‘A is son of B;

A @ B means ‘A is wife of B'.

Which of the following means ‘H is the grandson of R" ?
(1) P&R&Q#H

(2) H&R@G@P

(3) H&J@P#R

4 G&H@J@R
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oo o woa F=fafag s W enafE €
A#BHR I &' A g B =1

A& B 3 €' A, I EBHL

A@BH AL T'A, THEBH;

AcBHR S E'A I §BHI

frafafee § @ =F o fowey 50 gy & goia & foF ‘H, RF1 9 €' 2
(1) P&R@Q#H

2) H&R@G@P

3) H&J@P#R

4 G&H@J@R

Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
. 3, Option ID :- 123,

- 4, Option ID :- 124,
Answer Given:- 4, Option ID : -124

Question ID:- 32

Three statements showing relationships have been given, which are followed by two conclusions
(I) and (II). Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.

Statements :
[1] Q<K
[2] K>]
8] $>Q
Conclusions :
() S<K

(I 7>Q

(1) Only conclusion () is true

(2) Only conclusion (II) is true

(3) Both conclusions (I) and (I) are true
(4) Neither conclusion (I) nor (II) is true
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9 Feiy g Al d e T o § foek s < s (1) @i (1) fow e € 19w A g R e T e
el €, 7 9| st fom S |vd freed ffvss w9 @ wd 3782

YA :

[1] Q<K

[2] K>]

[B] S=Q

frrend

) S<K

(m J>Q

(1) e fed () T &
(2) hew e () W& &
3) fewd (1) ofR (1) S wd @
(

4y Bt fepel # § B off wE AE ®

Options:-

.1, Option ID :- 125,
. 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

Seven friends M, N, ], K, P, Q and R, are sitting in a circle facing at the centre but not necessarily in
the same order. ‘Q’ is to the immediate right of ‘M’. ‘R’ is not between ‘]’ and 'Q’. ‘P’ is neighbour
of ‘M’ and "K'.

Which of the following persons are sitting adjacent to each other from left to right in the order as
shown ?

() PKR
(2) NR]J
(3 JKR
4 QN]J

| fst M, N, 1, K, P, Q 31 R U 91 1 i H SUF &g F1 20K Hg 4 90 ¢ fohg 3¢ %9 8 761 58
F1/Q, "M’ % ke gl R E) R, T #AQ o H T e B 1P, M SIRK o UeiE ® )
Freafafed =afedl § 9§ #7 9 =1fw T4 e o wa § orff § el 3/ uF g % T96F 50 § 2

() PKR

() NRJ
(3 JKR
(4 QNJ

Options:- (_4

.1, Option ID :- 129,
« 2, Option ID :- 130,

. 3, Option ID :- 131,
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- 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

Three statements are given followed by three conclusions (I), (II) and (III). You have to consider
these statements to be true, even if they seem to be at variance from commonly known facts. You
are to decide which of the given conclusions logically follow(s) from the given statements.

Statements :

[1]  All fruits are vegetables

[2] No apple is vegetable

[3] Some apples are bananas

Conclusions :

() Some bananas are fruits

IT) No apple is fruit

III) No fruit is banana

) Only conclusion (III) follows

) Only either conclusion (I) or (II) follows
3) Only either conclusion (I) or (III), and (II) follow
) None follows

=1 i wem fau T # foms arg o fesed (1), (1), 3R (1) feu o € | st 37 el = wE e € =
9 WETE: | a2 9 9= 9 9 81 1| 3 i e TR e w4 e fou e e § arfhes ' 0 g
Freperar #/8 2

h¥H

[1] =it et Hfssl €1

[2] IS Ua et T # |

[3] F2 T FAE
et

) F9FAEAL
II) IE J9 F T T

(
(II) %I %A kel el & |

(1) Fea fepd (1) Fere T

(2)  ae 7 feed (1) e (1) e @

(3) hae = @ R (1) stean (1) feeer &, o fremd (11) Feraa 2
(4) e Frspe =& T €1

Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
. 3, Option ID :- 135,

- 4, Option ID :- 136,
Answer Given:- 4, Option ID : -136

—

S—
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Question ID:- 35

Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Females, Mothers, Lawyers

(4)

@@g@



https://aview.in/
https://aview.in/category/previous-papers/

feu 0 fasred] # 4 UH 99 3R 1 999 HIfAC & {50 70 =01 o = T ot &1 i 811

(D)

(4)

ciclales

Options:-

.1, Option ID :- 137,
. 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Subject : CL_Q36-Q40_KRTGTMATH

Question ID:- 36

Eila Gulati is planning to connect 25 computers of her training center using Ethernet Cable. Which
one of the following devices should she use for the same ?

(1) Switch

(2) 'UPS
(3) HDMI Splitter
(4) Repeater
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T AR 3UTIE Hae il WAN Hleh ST UIET] Fs & 25 FEH ohl FHAFe Il A o Bl © 2
39 zus fou form feama =1 wam == =nfeu ?

(1) f== (Switch)

(2 s (UPS)

(3) T=EHSTE femer (HDMI Splitter)
(4) fdiex (Repeater)

Options:- I K
.1, Option ID :- 141,
« 2, Option ID :- 142,

. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

Which of the following ports is the most primitive for connecting a Video output device on a PC/
a laptop ?

(1) HDMI
(2) PS2
(3) VGA
(4) USB

fopdt dirdt/eruety R ua difedl sifseye feary #1 FA% &t & fau &= @ i gaifus g @ 2
(1) TUwEEUHeTE (HDMI)

(2) w2 (PS2)

(3) ST (VGA)

(

4) guyst (USB)
Options:- ﬁ
.1, Option ID :- 145,

. 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 38

Which of the following is not an input device ?
(1) Touchpad

(2) Speaker

(3) Scanner

(4) Light Pen
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Frretferfias & & #01 w 37ge feary =& 82
(1) =z=ie

(2) T

(3) THT

(4) TEET
Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
« 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

is a file extension of an image file.

(1) mp3

(2) mov

(3) tff

(4) mpeg

gl 29 wige %1 0% wigd foEn gl

(1) mp3

(2) mov

(3) tiff

(4) mpeg

Options:-

.1, Option ID :- 153,
. 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 3, Option ID : -155

Question ID:- 40

Which of the following is the correct full form of TCP ?
(1) Transmission Control Protocol

(2) Transportation Control Protocol

(3) Transmission Central Protocol

(4) Transport Control Protocol
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frafafes 8 § S (TCP) %1 9 90 M %7 = &2
(1) Z|fEeE #2e gk

(2) U Hela e
(3) TIEMRA H2a ek
(4) ZIHUR el GerRd
Options:-

.1, Option ID :- 157,

« 2, Option ID :- 158,

. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q50_KRTGTMATH

Question ID:- 41

A child is born in a morally honest and socially committed family. Over the time, the child imbibe
these values through :

(1) Experiantial learning
(2) Reflection
(3)

(

4) Vicarious learning

Insight learning

T St Uk Hfde 9 H SR SR 9Hiser 9 § qfdes afEr § S99 o 8 | 999 6 & 9Y9-9y
oiereh fereeh ATeaH 9§ &7 qedi shl SHAHHTT 3L e 2

(1) SAqHETHE AfEH
(2) fdada

(3) HA=afe sfuy

(4) wfaffergers stferms

Options:-
.1, Option ID :- 161,
« 2, Option ID :- 162,

. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

A student of which one of the following type of school will prefer homeschooling ?
(1) A school that acknowledges diversity

(2) A school that considers disability

(3) A school that adheres to social exclusion

(4) A school that follows social inclusion
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Trefafed | 9 e YR & whal o1 foene =7 W ggd (8 whic) = wefeewar < ?
(1) T Thal i fafaedr = Sisr w @

(2) UH e o FovEad W faar @

(3) U ThaA S HHISIh SR 1 ITeH Ll &
(4) T Thel S WIS ST 1 SITE0 A ¥
Options:-

.1, Option ID :- 165,

. 2, Option ID :- 166,

. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

Which one of the following character pertaining to the cognitive development of adolescents is
correct ?

(1) Adolescents learn by social interaction.

(2) Adolescents can use deductive logic.

(3) Adolescents are capable of theoretical reasoning.

(4) Adolescents can think upto concrete level.

Tl & Harredes farg @ gaa # frefafead § 4«5 @ @ 98 g2
(1) forein s or: foman o gM drEd €1

(2) iR Frmgamedes o =1 WA R T ©

(3) Terein dgrfes fad=m & wem @ ¥

(4) ToreiR Hd W e FeaT o Tehd € |

Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 4, Option ID : -172

Question ID:- 44

Amar is a 15 year old school going student. Which one of the following now can be answered or
responded by Amar which he could not answer or might face difficulty in answering/responding
five years ago ? '

(1) “Describe the most crowded place of your city in your own words’

2)  ‘Describe the cleanliness and beauty of your city”

3) ‘Describe the most crowded place of your city as if you are flying in the sky’
4)  ‘Describe the beauty of your city as you saw in a dream’

(
(
(
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I TF S 91l 15 96td 9T § | 3 frefafe § | o= g sw R e § g 9 g o o
IW & H A HEgH HLl A1 ?

(1) ‘o797 YT % Falfesh HgwIe 9l T T 379 Il § Fui Hhife’ |

(2) ‘379 YR ] Al AR YLl I FUH HifSe” |

(3) ‘HMI Y STHEM H 3T W@ T, 3B U AYH V&L F aiyeh feurs amet T 1 avi sifee’ |

(4) ‘ST IR HT GEIAT 1 FUA RIS SrET R S T gEn 8

Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

A teacher wants to ensure complete leamjng on the part of the students. So, the teacher should
focus on the :

(1) Philosophical implication of learning,

(2) Psychological implication of learning,.
(3) Social implication of learning.
(4)

Moral implication of learning,

e AT BE gRI 0 ST A1 G 3 Fed €| 219 6l fRe 7 e ad e =iy ?
(1) fer % griftes fHfead

(2)  wAfermg & gereratTe fafemed o

(3)  sfenmy % g fAfgaed
(

1) srferme % faes fafeard w )<
Options:- @

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

Among humans, which one of the following activity does not require gross motor skills ?

(1) Standing alone
(2) Grasping a toy

(3) Walking upstairs with help and support
(

4) Jumping at a place
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T H o foron & forn e wifoes Sive &) sTevaehar 761 et § 7
(1) STHenEs®IH

(2) TEEM &l wEgd 9 ghes |

(3) FerEd SR HAelA | HifeA =er A

(4) TH A WHaT H

Options:-

.1, Option ID :- 181,

. 2, Option ID :- 182,

. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182

Question ID:- 47

Kohlberg describes the context of moral development within :
(I) Emotional and cognitive development

(2) Social and emotional development

(3) Physical and cognitive development

(4) Social and cognitive development

e A Afas fasre &1 fread afvlg fora € 2
(1) T 3R dFHEs e o

(2) ErHEISE SR WA fawe |

(3) VIR R Hamree fosw o

(4) wmEISE AR HEeHs faskm H

Options:-

.1, Option ID :- 185,
. 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 4, Option ID : -188

Question ID:- 48

The human development pattern is
(1) Spiral

(2) Linear

(3) Parabolic

(4) Cyclical
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e o afawm & :

(1) =fts

(2) TEE

COERIEEIEED

(4) ThiA
Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49

In the context of human development, which one of the following is an incorrect statements ?
(1) Development proceeds at different rates.

(2) Development patterns are predictable.

(3) Development is synonym to maturation.

(

4) Later development is more specific than early development.

e T % Hay o, frafafed § 3§ % @ Fee T8 1@ 82
(1) fowm fafv= < o o g €1

2) ferma wfaam wfgsrEmht drg 8@ T

3) fawm uRtusss =1 w3 €

(
(
(4) gd foasr =t stha Wad! fosmg eifyes fafire 2 2
Options:-

.1, Option ID :- 193,

. 2, Option ID :- 194,

. 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50

The terms “cephalo caudal’ and ‘proximodistal” are associated with :
(1) Growth.

(2) Aging.
(3) Maturation.
(4) Development.
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‘Tatheiree’ 3R ‘yreimfee’ v fred Haifud & 2

(1) dfg

(2) SR

(3) HRHsEA
(4) Tfawm
Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198, M
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 1, Option ID : -197

Subject : UTL_Q51-Q65_KRTGTMATH
Question ID:- 51

A limitation of constructivist approach is that :

(1) Standardized curriculum is ignored.
(2) Teacher acts as a facilitator.

(3) Collaborative learning takes place.
(4) Self learning is emphasized.

TIAETE! SUNTH %l Teh HHl 48 © foh-

(1) WM TeT=a1 i SU&T i Sl 2

(2) S1EAIE UF Ylaen-yewm & ¥ H H H 8 |
(3) TEITaT SiferT S E |

(4) - W T e S )

Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
. 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 1, Option ID : -201

Question ID:- 52

What is the way of modifying behaviour through Operent Conditioning ?
(1) Repetion through drill

(2) Variation of providing reinforcements

(3) Refinement of existing behaviours
(4)

4)  Developing liking for some behaviour
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Gftha ST e (AT FHrelut) & Wead H SHeRl Jga- 1 alih] #1 ¢ ?
(1) SH % H2W 9 TE

(2) YA YgH HEH H fafir=

(3) EdHH SHERR H RATSH

(4) a9 & =aer * o uhe fawfag &

Options:- r)/
.1, Option ID :- 205,

« 2, Option ID :- 206,

. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 4, Option ID : -208

Question ID:- 53

Employing project method is not suitable when :

(1) real life experiences are considered important.

(2) teacher finds it difficult to ensure participation of all students in it.
(3) development of self confidence among students is a priority.
(

4) no external persuation is needed to attract the students toward learning,

wfersT fafen s e e e SUge e a1 € Sie-

(1) Srafash Siee STYaEl i Heeyv] THeT Sl & |

(2) 1eATgeR TUH 9ol fornfeR w1 yrTer gHfaa w3 ¥ Hiear Jegd #)

(3) Temnfeldi o s1req forvary faehfia € =1 mefierar & i 21

(4) Tornfaai =l ey w1 X ARG HL 6 fow fohsl aredl S sl sTavashdl 7 @ |

Options:-

.1, Option ID :- 209,
. 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 2, Option ID : -210

Question ID:- 54

Extrinsic motivation is preferred over intrinsic motivation because :
(1) It helps foster creativity.

(2) Parents and teachers often reward children for successful completion of learning tasks.
(3) Itis longer lasting.

(4)

It is based on taking pleasure in an activity.
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iR ST st erden e Ao w1 mefesr < s § -

(1) I8 YA Sl AeaTed Hid H Tl HLdl ¢ |

2)  Afiyras iR STeATTs U =4 0 319 ATy S SRl TheraTga e U T W JEER 2 §
3) UE oid guY q9 el 5

4) e Tt fopan ® sTrig o W eTenfd B §

Options:-

.1, Option ID :- 213,

« 2, Option ID :- 214, x
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

(
(
(

Question ID:- 55

Important factors for development and sharpening of existing curricula do not include :
(1) Globalization

(2) Uniformity

(3) National Goals

(4) Natural and man made Calamities

(1) SeErwT

(2) THET

(3) W e

(4) UrRfas SR AFa-fAfHa smuem
Options:-

.1, Option ID :- 217,
. 2, Option ID :- 218,
. 3, Option ID :- 219,

. 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Question ID:- 56

Which one of the following does not act as a limitation of Competency Based approach to
learning ?

(1) Designing activities and test items for such competencies may not always be practicable.
(2) Learning climates in all schools are not conducive for optimising learning.

(3) Remedial teaching is helpful for improving grades of low achievers.
(

4)  Outreach of teacher to all students is not possible due to varied pace of learning for each
student.
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sferma # gera smenfia sur =) Frefafed 5 & oo e w32

(1) Tt geasi & o fFamd i wierm ues S Hea SAERi 781 el 8 |

(2) Tft foremerdl § safermm amaERyr siftrm # sean 99 F fan were T a

(3) SUFRICHH foneror 0 1ferm qraehdiell & ¥ H GYR & % fau 9erae g ¢ |

(4) g femmedt @t srfermy weiedt wfa # fomran & o steamss i Wt farnfeli ao vgw e i gt
gl

Options:-
.1, Option ID :- 221,
. 2, Option ID :- 222, X

. 3, Option ID :- 223,

- 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222

Question ID:- 57

Which one of the following statements is correct ?

(1) Mother tongue must be made the medium of instruction at Primary stage as children come to
school with enhanced vocabulary and it may help their quality of learning.

(2) Implementing three language formula may create complex problems.
(3) Itis difficult to find suitable teachers to be able to use multilingualism.
(4) Children can not learn two or more languages at a time.

Frafafed § § #F- F9F 9&1 € 2

(1)  HIGHTST 3l T TR 9 USE 1 719 SH11 S1 Fifey #ifer o= dei gs veama & e faemea
AT ¥ IR T STRT AT TR § Herdl Y Hehdl ¢

(2) - wrden @] w9 @ Sfea greEd Y & g

(3) =g Il T AN R TR Aol SUFH STATTH Sl g Givhd @ |

(4) == uE gEg § 9 7 efess amiet B T O e 2

Options:-

.1, Option ID :- 225,
« 2, Option ID :- 226,
- 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

Which is not a feature of ‘Experiential Learning” ?

(1) Learning lies in the process

(2) Learning is a continuous process

(3) Learning takes place through logical arguments
(4) Learning is a holistic process
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frfafaa 5 9 &9 ' srvarees Aftrm’ 1wk fagivar 78 82
(1)  afermm wfshen 1 w fewm @ §

(2) ferTH U wed Wik ©
(3) siferm ifdher Sefiel & HieEm § gl §
(4)  Afm w T whEa ©

Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

Which one of the following is not a feature of ‘Continuous and Comprehensive evaluation’ ?
(1) Formative evaluation is done informally using multiple techniques.

(2) Assessment of personal-social qualities is done on the basis of indicators of assessment and
checklist.

(3) Assessment of Scholastic areas is done in a formal way only to arrive at reliable decisions.
(4)  School based evaluation of students covers all aspects of students” development.

Frafafed § 9 0 gad 2R =9 godise | #1 s fauar T # 2

(1) TEIRHS Yedishd SHIgalieh €9 & 3T qehrich] Sl FAF Hich (a1 Sl 5 |

(2) SEAfFTR- TSI TN 1 ST, STheH o Hehaehl 31X STE-HH1 o MHR T T ST 2
(3) Siftrsw &3 F1 serer g faveaE Aol W ugen & fo el w9 9 e s #
(4) foenfeai & faemerm smenfia Heaiw § foenfeai & fawm & i veq wiae 2 €1

Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60

Which one of the following is not associated with unit test ?
(1) Standardized achievement tests

(2) Diagnostic tests

(3) Summative assessment

(4) Prognostic tests
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Treferfaa § | = serE-vdem 8 Heftd 728 8 ?
(1) HHHIFT ST FHa

2) e wdiem

3) ANTCHSE STehReH

4)  gEHIE qE

Options:-
.1, Option ID :- 237,

. 2, Option ID :- 238,

(
(
(

. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61

Which of the following is not an example of ‘assessment of learning’ ?
(1) Scholarship examination

(2) Recruitment tests

(3) Assessment of homework
(

4)  Annual examination

Frafafas § § = eifermg & Seha’ & T3S T8l § 2
(1) SeEfd

(2) el Tdteor

(3) TRHME e

(4) after gten
Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62

Which one of the following is not a characteristic of ‘Assessment for learning’ ?
(1) Itis descriptive in nature.

(2) It expects students not to make errors.

(3) It provides for peer examination of their work.
(

4) It identifies areas of strengths and of need for each student.
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Frefafea & 4 =0 ‘ siferm % fau stee’ #1 o fosoar 7= &2

(1) &% JUiATH Fahfd &1 2t & |

(2) TEBE Y AT 7 FH B ST HE] 2 |

(3) 4 Ik Al % TeIC HEUST Y& IqeTed Fwl |

(4) I UaH faanefl &% yoet Uy IR sTeEvEeshd are fanfeE st ueem wd € )

Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

A teacher first gives some examples related to the concept and then asks about the rule/principle
governing it. She/he is adopting :

(1) Inductive approach

(2) Deductive approach
(3) Investigatory approach
(4) Explanatory approach

T AT Tgel Haheul o ai) H $9 Seal adl & iR i 394 Haftd fem/fagm & s 4 yom 8198
39 V@l &

(1) HAFTHARHS IYRTH

(2) TR SAETH

(3) HTHUFHE SINTH

(4) foeums ITFH

Options:-

.1, Option ID :- 249,
. 2, Option ID :- 250,
. 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

Individual attention is important in teaching-learning process because :
(1) Teacher training programmes emphasize it.

(2) It helps teachers to maintain discipline.

(3) Children develop at different rate and learn differently.

(4) Learners always learn better in group.
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Toneqor-siferm wferen # =faamie orF 21 Hewyd € Fiife-

(1) 3T=AT9e fereron SrdehH 39 T 9 o €

(2) TE STEATIHI T G T T@ H HEIdA Ll 2 |

(3) == fafu= 2§ fasfaa 2 € o ster-ser ave 9 Hied 21
(4) frHEd Hed HHE H de HiEd © |

o)

Options:-

.1, Option ID :- 253,
. 2, Option ID :- 254,
. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

If the students are not taking interest in the studies, the teacher should :
(1) report the matter to the principal and convey to the parents.

(2) advise students to take interest in studies for their own benefit.

(3) ask the students as to why are they not taking interest.
(

4) ponder over the causes for lack of interest and take remedial measure.

If% B ST H w4 T8l ¢ @ ¢ ql HAATTH Hl-

(1) T5e! forma yem=m 1 < wnfew den 98 = - 9 off gge =ifen )

(2) fornfei o1 = wars ot =ifen f 3% oA fea # ueE # w9 ot =nfew |

(3) fornfel= & =% g =ifew for 3 v H w0 6 @ w

(4) faenfefdi g &= 7 o % SRl R faar F:3 Tifeu 3K SUaREss e & T |

Options:-

.1, Option ID :- 257,
. 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Subject : CCLE_Q66-Q80_KRTGTMATH

Question ID:- 66

Integrated Education of the Disabled Children (IEDC) has been merged with :
(1) DPEP

(2) RUSA

(3) RMSA

(4) RTE, 2009
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197 @Terehl ot wAfRa fren (IEDC) &1 foraes wrg foen femn wn &2
(1) =i dt § 91 (DPEP)

(2) S 7 THT (RUSA)

(3) SN TH TH T (RMSA)
(

4) &R 2 E, 2009
Options:- ‘
.1, Option ID :- 261,

. 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

Famous scientists Stephen Hawking was suffering from :
(1) Parkinson’s disease

(2) Amyotrophic Lateral sclerosis

(3) Sickle cell disease

(4) Multiple sclerosis

Yitg A IwA i forad difed ¢ 2
(1) Oifeh==a T

(2) UHEZIh® oo WRRIed

(3) Toewa da M

(4) HETA BRRIEY

Options:-

.1, Option ID :- 265,
. 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

Question ID:- 68

Which one of the following case needs guidance ?

(1) An academically bright student, who has failed in class XI after opting science.

(2) Class XI student of science stream who is not able to perform / do laboratory activities /
practical’s.

(3)  After opting science in class XI, a student who is showing the symptoms of academic anxiety.

(4) Class XI student of science stream who crams the scientific laws and formula.
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Frafafes 9 9 frg ame | arfees =t sravrsa Bt 82

(1) Sifersr &1 Aurel 9@ S fagm fowa 997 % 9. wa-X1 § STl € 7|
(2) To farer =1 shan-XI o1 o1 Sl gHwrenen H frand/ganT &l T @ |
(3) & X1 H fage fawm g7 % 9% v v S dfes o= & @sm foama €
(4) faam fawa =1 Fan-X1 1 9 i daife Fae o) g 6l ©d g

Options:-
.1, Option ID :- 269,

« 2, Option ID :- 270,
. 3, Option ID :- 271,
. 4, Option ID :- 272,

Answer Given:- 3, Option ID : -271

Question ID:- 69

Which one of the following is not a psychological stressor ?

(1) Catastrophic event
(2) Social discrimination
(3) Sedentary lifestyle
(4) Poverty

frefafea § 8 SA-491 T g9Ea1s Sod T8l @ ?

(1)  SATIT =
(2) IS TEuE
(3) YU See
(4) RIS
Options:-

.1, Option ID :- 273,
. 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 3, Option ID : -275

Question ID:- 70

In a school library, the book stock should consist of curriculum - related non-fiction resources
which must be :

(1) Up to 50% of the total stock
(2) Up to 75% of the total stock
(3) atleast 40% of the total stock
(4) atleast 60% of the total stock
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T @hd e H, T "SR H ueaad] Het R-%1 wifecy H8eH 21 FfeT St d WeR &t A
yfererd e B =fed ?

(1) e Yer % 50 Ffaed e |

2)  FA SR F 75 Yaw@ T |

3) & HER @ HH H FHH 40 Yiawd |

(
(
(4) T SR F FH H HH 60 gfqed |
Options:-

.1, Option ID :- 277,

. 2, Option ID :- 278,

. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 4, Option ID : -280

Question ID:- 71

Which one of the following topic cannot be taught, to the school students, through ‘community as
a learning resource’ ?

(1) Soap - preparation procedure
(2) Laws of reflection and refraction
(3) Concept of chemical bonding

(4) Concept of friction

‘e AT WA % EY 9HEE’ % e | Whelt 96 i fetated § 9 SE-9 a6 aern s wewda
27

(1) EreA & i fafy

(2) IR SR s e

(3) THEfR HEY S Geheadl

(4) =HT T HeheqHl

Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 3, Option ID : -283

Question ID:- 72

Who, among the following teachers is a reflective practitioner ?

(I) A teacher who is an expert in repairing electronic gadgets

2) A teacher who always asks students to reflect on their future life

3) A teacher who draws implications for his/her teaching from all kinds of life experiences
4) A teacher who blindly follows the teaching methods learnt during teacher training course

(
(
(
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e el H 9 #H Wed! erawmEed (e dfeeem) §2

(1) U forerer it geraeifer SushTol 1 Uy § 281 §

(2) U foeen St BE # TR fas % 9 H HEn # wEd R

(3) U foeres S Al YR & Sia sHyaEl ¥ g e &g Ffeard fee omr &

(4) U foremes it oo oreres wfirero seeisel | widh faeron faferl &1 stamen g ot @

Options:-

.1, Option ID :- 285,
. 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73

A good teacher as a leader should :

(1) Involve all his students through participatory group activities to get best results
(2) Try to make balance between students and the advice of the principal

(3) Try to improve his teaching skills

(4) Try to attain the best degrees in education

T 375 Toierh &1 a1 o ®9 H 1 ST ey ?

(1)  371= uftomy wift 3q yriiargyl gmfes wfafafedi gr sme =Ei #1 wire w1
(2) B 3R U= i TS o sd G S o T A

(3) 3TuH Tenequr v H HHR I FAH Y

(4) Toen o § geedy fedii OH &1 999

Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 1, Option ID : -289

Question ID:- 74
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Which of the following combinations help a teacher build a vision for better school education ?
i)  Logical and abstract thinking ability

i) Exposure to varied life situations

PR

(

(

(iii) A degree in philosophy

(iv) Thirty years of teaching experience
(

o
——

Experience of visiting the worst and best teacher education institutions

(D @), (i), (iii) and (v)
(2) (i) (i), (iv) and (v)
(3) (1), (i) and (v)

(4) (i), (iv) and (V)

T =51 hell foen o faerd € 1 | 9 -9 |ftmer faee &1 w gfte fFaio § g & g e ?
(i) rfehep IR oTqd fama afman

(i) Sfta =t fafw= aRfeafadi @ sqya

(iii) I o H U Tt

(iv) o9 9 o 9gH 1 AT

(v) T A iR T 3 e e SR % ame 6 e

(1), (i), (iid) AR (v)
(1), (i), (iv) 3 (v)
(1), (ii) 37 (v)
(

4) (i), (iv) 3R (v)
Options:-
.1, Option ID :- 293,
« 2, Option ID :- 294,

. 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

Which one of the following will help maximum in enhancing the teaching learning ethos in a
school ?

(1) Making books other than text books reading compulsory

( Having open dialogue sessions on every educational and social issue with every teacher
(3)  Strictly following the set time table and no wastage of time on field visits

(4) Mastering the course prescribed
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T The | e AR e # dea w H e § 9 56 e S 9eEeE 26 ?
(1) 97ed G&hi = STEATET 3= TRIhI o 951 =i Afar

(2) 9 foremer o wer e Sifares iR wraifeiss 48 W el 9= 9 e S

(3) &5 YHU W HEY = 7 HLd BU Thel §H G0 A1 e § e HE

(4) fou T g F T 9 e

Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 2, Option ID : -298

Question ID:- 76

Who among the following be preferred to make the school time table ?
(1) The Physical education teacher

(2) The drawing and painting teacher

(3) The mathematics teacher

(4) The vice principal

T 1 4 fore waa wifooft s | wiafaesa & s =fey ?
(1) mrifEr foen = s

(2) TesmERe &1 teATIh

(3) TIfoTd 1 1A

(4) Y FYHEEME

Options:-

.1, Option ID :- 301,
. 2, Option ID :- 302,
. 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

Subjects like Maths and English should be taught in which period ?
(1)  First period

(2) Period just before recess

(3) Second period

(4) Last period
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Tford IR s S fava form ey | v s+ =fey ?
(1) Y94 e

(2) STl g H Uge Fwend o
(3) fedta wreria
(4) faq e

Options:-

.1, Option ID :- 305,
. 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78

Which document discussed Multilingualism and the power of language ?
(1) Kothari Commission

(2) Ram Murti Committee

(3) NPE-1986

(4) NEP-2020

Torer TEamast 3 SgVTIIETE SR |TH %t WifeRk 92 9 i @ 2

(1) ISR M
(2) T Hid |iEfa
(3) NPE-1986
(4) NEP-2020

. 2, Option ID :- 310,
. 3, Option ID :- 311,

Options:-
.1, Option ID :- 309, 7&

. 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

In whose context we talk specifically of safe and secure environment for children in schools ?
(1) Deprived children

(2) Tribal children

(3) Rural children

(4) Handicapped children
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el # o= &g gt AR GEarEh ol ardERe St o e e ded ¥ e @ 8 ?
(1) =ifed ==

(2) snfearEt a=

(3) IS

(4) Te=mims=
Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
. 3, Option ID :- 315,

- 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80

In which field of education, maximum innovations have been done ?
(I) Primary school education

(2) Middle school education

(3) Secondary school education

(

4)  Senior secondary school education

foren & o &= § waifes TR fe T g ?
(1)  wrafaes w=pa faan

(2) fafest w=pa faen

(3) HIEATHE wha faa

(4) @it weafs e e

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : Maths_Q81-Q180_KRTGTMATH

Question ID:- 81 /\/\ ()—1 \"‘g %S \/

IfFn=22x3*x7x (15 )®, then number of consecutive zeros in n ale ><
(1) 4

(2)
(3
(4)
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e n=23x34x7x (15)° %, 9 n % HANT YA I HSAT ¢ :

() 4
2) 3
3) 5
(4) 6
Options:-

.1, Option ID :- 321,
. 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 2, Option ID : -322

Question ID:- 82

H.C.F. of 210 and 55 is expressed as 210 x5+ 55x. Then value of x is :

, 2w
(1) T
2) -20
5 21
i
a  ~ 2

210 3T 55 % H.C.F. ®l 210x5+55x 4 o fopan ST @1 Slx H AF § :

, -2
(1) 11
(2) -20
5 -2
(“) 11
g 20
Options:-

.1, Option ID :- 325,
. 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83
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2—JF

The number

(1) an irrational number
(2) a rational number
(3) an integer

(4) a natural number

.2 +47
qel Tﬁ 2:
(1) U Ui deA
(2) U afeHE HeA
() UF I
(4) U HIhd HEA
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84

By Fundamental theorem of Arithmetic, if p is a prime number and it divides q?-, g>0, then :
(1) pdivides q

(2) p?divides g>

(3) qdividesp

(4) > divides p2

SO 1 AT T9F F AR, AR p UF AURT & ¢ 3R 2 fawnfom =t &, s9fs >0 §,

(1) p, q =i Tawfse =i |
(2) p? g?ent fasfera o |
(3) q,paﬁﬁmﬁﬂm_tﬁ%l
@) @ p>! faufem =t 81
Options:-
.1, Option ID :- 333,
« 2, Option ID :- 334,
. 3, Option ID :- 335,
. 4, Option ID :- 336,
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Answer Given:- 1, Option ID : -333

Question ID:- 85

Choose the number which has non-terminating repeating decimal expansion.

m =
@
@ 2130
@

39 He il g e semed JER S sTed § |

- 11
(1) —
(2) ;50 ><
@ B 1

240

93

4

®) 420
Options:-

.1, Option ID :- 337,
. 2, Option ID :- 338,
. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86

Which of the following numbers is a prime number ?

(1) 233
(2) 253
(3) 247
4) 377

Trefafes § 9 =@ 9 9= o 9= § 2

(1) 233
(2) 253
(3) 247
(4) 377
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Options:-

.1, Option ID :- 341,
. 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

If o, B are zeroes of the polynomial f{x)=x—p(x+1)—9, then value of (a+1) (B+1) is :

1) 7
2) 10
(3) -8
(4) 8

afe 5g9E flx)=x2—p(x+1)—9 % TIF o AP E, d1 (a+1) (B+1) & :

1 7
2 10
3 -8
(

4 8 i !
Options:-

.1, Option ID :- 345,
. 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 4, Option ID : -348

Question ID:- 88

If (4)>~1—(16)*~1=384, then value of x is :

N9
iy 2
(D) i
(2) 2
y =
3
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fg (@2 1-(16)*1=384¢F T xF HA T :

9
(1) -
(2 2

11
@ 7
(4 2.5
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

- 4, Option ID :- 352,
Answer Given:- 4, Option ID : -352

Question ID:- 89

x and y are two positive real numbers such that 813+27y3= 730 and '-’_‘c?y +3xy2=15, then value
of 2x+3y is :

1) 9
@) 10
(3) 11
4) 8

x Sy TH & YT aTfash §Em ¢ & 813+ 2717 =730 3?‘7(2'(21]+3x};2=15 g 2x+ 3y 1 °HH
®:

1 9
2) 10
(3) 11
4) 8

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90
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If x = ;, then value of ¥>—6x2+12x—8 is :

2—+3
1 243
(2 6
(3) 343
(4) 4453

e x = 1 T M3 —612+12¢v—8% :

2-+/3
() 23
(2 6
(3) 343
(4) 4453
Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 3, Option ID : -359

Question ID:- 91

One of the factors of (25x%—1) + (1 +5x)? is :
(1) x+5

) 5-»
(3) 5x—1
(4) 5x+1

x+5

Options:-

.1, Option ID :- 361,
. 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364
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Question ID:- 92

If the zeroes of the quadratic polynomial x2+(a+1) x+b are 2 and —3, then :
(I) a=0,b=-6

2) a=2 b=-6
(3) a=5,b=-1
(4) a=-7,b=-1

g fgad a8u8 x2+(a+1) x+b & YAH 2 3N -3, dl :
(1) a=0,b=-56

20 a=2,b=-6

3) a=5b=-1

4 a=-7b=-1

Options:-

.1, Option ID :- 365,
. 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

If in a polynomial x> — (k+6) x +2 (2k — 1), sum of zeroes is equal to half their product, then value
of kis :

() 6
2 7
8
@B 3
(4) 4

g TG 22— (k+6) x+2 (2k — 1) & Y=IehI 1 AN 37k [UAHA o 318 o SR §, 0 k 1 HH & :
() 6
(2)

7

8
® =
(4) 4

Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370
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Question ID:- 94

If a linear equation has solutions (—3, 3), (2, —2) and (4, —4) then it is of the form :
() y—x=0

(2 y+r=0
3) 2x+y+3=0
4) x+2y—3=0

afe ua Ya® FHH & T (—3, 3), (2, —2) AR (4, —4) &, T THH EY TN
(D y—x=0

(2 y+x=0

(3 2x+y+3=0

4 x+2y—-3=0

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 95

The graph of the linear equation 2x +3y=8 cuts y-axis at the point :

8
@ @0
G (© 9
8
@ o, 5]

e FHERTT 2x + 3y =8 1 3ol y-314 i o9 fog W FRA g, =8 8 :

8
(1) [5, 0]
@ (@0
3 (04
' 8
@ o, 5]
Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,
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. 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

Which of the following option expresses 5y—8x=7 (x +1)—9 in the from ax+by +c=0:
(1) —-x+12y—9=0
2) 15x+2y—9=0
3) 15x—4y—-9=0

(
(
4) —-x+6y—9=0

frafafeaa 9 9 %9 @ fawe 5_1;—8x=7(.r+y)—9ﬁ ax+l~ny+c=ﬂ%ﬁ’€\qﬁﬂ?{fﬁﬂ AT T :
(1) —-x+12y—9=0

(2) 15x+2y—9=0
(3) 15x—4y—9=0
(4) —x+6y—9=0

Options:-

.1, Option ID :- 381,
. 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 2, Option ID : -382

Question ID:- 97

If the point (2k —3, k +1) lies on the linear equation 2x—3y+12=0 then value of k is :
(1) 2

2 3
3) -3
(4) -1

afg fig k-3, k+1) as T 2r—3y+ =0 R @ &, Ak F AT :
2

(1)
(2)
3 -3
@) -1
Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98
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Graphically, the two linear equation 3x+y—6=0 and 3x—y+6=0, with x-axis will
enclose a :

(1) equilateral triangular region
(2) isosceles triangular region
(3) scalene triangular region

(4) right angle triangular region

HAAE H S faF HIEH 3x+y—6=0 AL 3x —y +6=0, x-31% F 1Y &3 ¥ & :

(1) woarg e
(2) wHfgE B
(3)  formarg fogst
(4) HHFRW By
Options:-

.1, Option ID :- 389,
. 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 2, Option ID : -390

Question ID:- 99

If pair of linear equations
ax+3y+(3—a)=0,
12x+ay—a=0

has infinitely many solutions, then value of a is :

(1) 6, —6

(2) 0,6

(3) 6

4 -6

7fg Yfae gl &
ax+3y+(3—a)=0,
12x+ay—a=0

% ST 1Y SF A, TMa FIHFE :
(1) 6, —6

(2 0,6

3) 6

4 -6
Options:-

.1, Option ID :- 393,
. 2, Option ID :- 394,
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. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 3, Option ID : -395

Question ID:- 100

Cost of 15 pens and 8 pencils is Rs. 289, whereas cost of 8 pens and 15 pencils is Rs. 240. The cost
of 3 pens and 3 pencils (in Rs) will be.

(1) 76
) 96
(3) 69
(4) 49

15 U9 311 8 UGl A1 g 280 ®. €, StEfeh 8 U9 31k 15 Uil o1 5o 240 ® 213 U9 211 3 Ufaal =1 g
(TUgi §) B8R :

(1) 76
(2) 96
(3) 69
(4) 49
Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 3, Option ID : -399

Question ID:- 101

Solution (r y) of pair of linear equations :

(a+c) (a—c) y=2ab
(a+b) —(a—Db) y=2ab, is :
(D (a —a)

(20 (-9

(3) (=b D)

(4) (b, —b)

Y |t & T

(@a+c) x—(a—c) y=2ab
(@a+b) x—(a—Db) y=2ab
1 B (x, 1) % Gl (:c,y)% S

(1) (a —a)
2 (=c 9
(3) (=bb)
(4) (b, =D)
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Options:-

.1, Option ID :- 401,
. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404

Question ID:- 102

If x=3, y=1 is a solution of a pair of lines x—4y+p=0 and 2x+y—q—2=0, then the relation
between p and q is :

(1) 2p=q
(2) p=2q
3) 5p=q
(4) p=35q

Tfe Y@l F IH x—4y+p=03AR 2+ y—q—2=07H & x=3, y=17, T p W q % o9 F&9 T :
1) 2Zp=q

2 p=2q

(3) 5p=q

4) p=5q
Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

The area of a rectangle gets increased by 45 m2, if its length is reduced by 4 m and breadth is
increased by 5 m. If length of rectangle is increased by 3 m and breadth is reduced by 4 m then
area decreases by 67 m?, Length of rectangle (in metres) is :

() 21
2) 26
(3) 22
(4) 25

AT ! TS hl 4 m FY AR =S H1 5 m Fel o7 S 8, @1 &% 4 45 m2 % gig 8 Srdt @) 3fg
ST I AR 1 3 m T T S 2R HeE 1 4 m FH F eI Se @t eEwd ° 67 m2 T Ul @l S
¥ a1 o (HeH) # .

1) 21
) 26
(3) 22
(4) 25
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Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

The pair of linear equations;
3y=—4x+1

and 3x=4y—18

represents two lines which are :
(1) parallel

(2) intersecting at (—2, 3)

(3) coincident

(

4) intersecting at (3, —2)

g gl # I
3y=—4x+1

FHR 3x=4y—18

<1 s g e © S
(1) FHIRLI

) (-2, 3) T yf=de Hr €|
(3) Hurdt 1

4) (3, —2) 9w HL T

Options:-

.1, Option ID :- 413,
. 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105

If the roots of the quadratic equation 9x% +6kx+4=0 are equal, then the value of k is :

(1) —-2or0
2) 2010

(3) 2o0r -2
(4) 3or -3
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Ife fema THieRTor ox2 + 6ky+4=0% g FUE &, dl k T TH & :

(1) -—-230
(2) 270
3) 279 -2
(4) 33 -3

Options:-

.1, Option ID :- 417,
. 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

The roots of the quadratic equation x>+ x— p(p+1)=0 are:
M -p —(p+D)

2) pptl
3) -pptl
4) p —(t)

fgem T 22+ x—p (p+1)=0%F T € :

1 -p. —(p+1)

(2 pp+l

3 -pptl

4 p —(pt]
Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

If —2 is a common root of the quadratic equations ayz +ay+3=0 and y2+_1;+b =0 then a’b is :
(1) 8

9
D -2
(2) 3

—_—
)
S
[\SH N}

=

S
|

o
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Tfe fgurd eI ay?+ay+3=0 R 2 +y+b=0F IS g7 28 da?b ?:
1 3

9
2 o 5
(2) 5
9
®
(4) -6
Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108
Which constant must be added and subtracted to solve the quadratic equation

Oy x — /2 = 0, by the method of completing the square ?

2 +_§
4
*
64

1

4
.l
64

1

8

figema | 9x2 4 %x_ J3 = 0, g v e w faf & v e ¥ fo sw e s ufw
Sirgr iR =eE S =e ?

m =
@ 3
@ -
@ <
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
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. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 3, Option ID : -431

Question ID:- 109

Which of the following is a quadratic equation ?

2x—3]

1) =2+*=(5-1x E

(2 x3-xZ=@x-1)3
3 (k+ 1)x2+;;:.:= 7, k= -1

(4) x242x+1=@4-1x)2+3

Frefafes 5 4S9 9 foume gaem § 2

1) =-2x*>=(5- 2% [.215 - %]

Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

Solution of the quadratic equation;
22 + 63x—60=0 is given by :

() 243,-543

(2) 543, -243

3 5 -343

4 -3,58
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fgema iR

222 + 63x—60=0
HEAE

(1) 248,-543
(2 543, -2.3

(3 5 -343

4 -3,53

Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111

If the zeroes of the quadratic polynomial ax?+bx+c, where ¢#0 are equal, then :
(I) c and a have same signs

(2) c and a have opposite signs
(3) cand b have opposite signs
(

4)  cand b have same signs

Uﬁﬁﬂﬁﬂﬁﬂﬂaﬁ+bx+c,@ﬁc#0%%?ﬁ¥mﬁﬁ?ﬁ:
(1) ¢ &Ra® fogaam

(2) c3Ra¥ fauda fag @
(3) c3iEb fauda fag @
(4) c@RbF gar g

Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 1, Option ID : -441

Question ID:- 112

The sum of n terms of A.P. is n?+3n, then common difference of A.P is :

(1) 2
2 3
(3) 1.5
(4) 05
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TH AP. FnTe H I n2+3n%8 AP H 96 I T :

M 2
2) 3
(3) 1.5
(4) 0.5
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

In the sequence a,, given by 114, 109, 104, - - - - - the first negative term will be :
i)

(2) 23

(3) 24

(4) 22

goft a,, S o 114, 109, 104, - - - - - B, H WYH HHE T8 BT

(1) 21

2 23
(3) 24
(

y 22
Options:-

.1, Option ID :- 449,
. 2, Option ID :- 450,

. 3, Option ID :- 451,

e

. 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114

The 7t term from the end of the sequence —8, —5, —2, ----- .88 1is :
(1) 67

(2) 70
(3) 73
4 72
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goft -8, =5, =2,----- , 88 %1 37 *F SR | A KT
(1) 67

2) 70

3) 73

(4 72

Options:-

.1, Option ID :- 453,
. 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115

The sum of all two digit numbers which when divided by 4, leave 1 as remainder is :
(1) 1254

(2) 1166
(3) 2420
(4) 1210

= |4 |1 a9 arell Henai & A9 S 4 4 fadres 0 W1 G §, §

(1) 1254
(2) 1166
(3) 2420
(4) 1210
Options:-

.1, Option ID :- 457,
. 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 4, Option ID : -460

Question ID:- 116

Sum of p terms of AP is q and sum of q terms of AP is p. Common difference of A.P. is:

2 2
1 e gy A
(1) 4
Pq
6) 2 (p+ q)
pq
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A.P. % p 9&l I 41T q 31K q W&l &AM p T 1 AP, %1 §d =R T :

2 2

(1) )

) -2(p+q)
Pq

@ 2Ptd
Pq

(4)

2
Options:-

.1, Option ID :- 461,
. 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117

The fourth term of an A.P. is three times the first term and seventh term exceeds twice the third
term by 1. Tenth term of A.P. will be :

(1) 22
2 23
(3) 21
4) 29

A.P. %1 =91 UE Yee! U8 1 1 A1 € AR Hial g, 9 98 % g 9 1 e §1 AP, F SHE B T

(1) 22
(2) 23
3) 21
(4) 29

Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467

Question ID:- 118
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Two points having same abscissa but different ordinates lie on :
(1) x-axis

(2) a line parallel to x-axis

(3) y-axis

(4) a line parallel to y-axis

31 faigedi 1 9o 99F 21 g Hife ot 2 ar 3 feerm 20
(1) x-38 T
(2) x-3&] % HHIG W@ W
(3) y-¥1&1 W
(4) y-398 & HHIG @)
Options:-
.1, Option ID :- 469,
- 2, Option ID :- 470,

. 3, Option ID :- 471,

- 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

The number of linear equations in x and y which satisfy x=1 and y=5 is :
(I) Only one

(2) Two

(3) Three

(4) Infinitely many

x=1,y=5 = Y= & a1 v 2R y & {Eh FHEHW HI &A1 e

(1) Had TH

(2) =

(3) M

(4) RIE 3T eI, 95
Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Question ID:- 120
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If the point P (2, 1) lies on the line segment joining points A (—1, 7) and B (4, —3), then :

(1) BP= X AB

=

2
)
(2) AP= < AB
5
~ 3
(3) AP:;BP
(4) PB=5;’.AP

7fe faig P (2, 1), f6gati A (-1, 7) R B (4, —3) &l SisH arel W@ @ve W fm 8, e

(1) BP= g AB

Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Question ID:- 121

The coordinates of a point which is equidistant from O (0, 0), A (0, 22) and B (8, 0) is :

G 4]
(2) ('l'l, 4)
3) (@ 11)

o 1)
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39 faig o e s O(0, 0), A (0, 22) 3R B (8, 0) § UHEHH g W E, @ :

11
® |54
(2) (11 4)
(3) (4 11)
@ [+3]
Options:-

.1, Option ID :- 481,
. 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122

Point which is equidistant from point A (4, 5) and B (—2, 3) lies on the linear equation :
(1) 3x—y—-7=0
2) 3x+y—-7=0
3) 2x—y+7=0

(
(
(4) 3x+2y+7=0

feigaii A4, 5) 3R B(—2, 3) ¥ H9gwey Ty, o e geiewo w fug §, a5 ¢
(1) 3x—-y—-7=0
2 3x+y-7=0
(3) 2x—y+7=0
(4) 3x+2y+7=0

Options:-

.1, Option ID :- 485,
. 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 2, Option ID : -486

Question ID:- 123

If the mid point of the line segment joining (o, f+1) and (et +1, B +2) is [%, %] , then the mid point

of line segment joining (0t—1, p+1) and (0.+1, B—1) is :

(L1
2 1 -2
3 @1
4 61
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e (o, B+ 1) AR (a+1, B+2) FI e Tt @EE F1 7 &g [; g] g dl (a—1, p+1) 3R

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124

Euclid stated that “all right angles are equal to each other” in the form of :
(1) an axiom

(2) a definition

(3) a postulate

(4) a theorem

IfFae 9 Th % &9 1 F7l T Gl FHERI T gHL & ST Bd ¢ |
(1) sfwEE

(2) afesmE

(3)  AfEmom

(4) T

Options:-

.1, Option ID :- 493,
. 2, Option ID :- 494,
. 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125

Boundaries of solids are :
(1) surfaces

(2) curves

(3) lines

(4) points



https://aview.in/
https://aview.in/category/previous-papers/

T 319 1 greEE Bt @

1 T=
(2) =%
(3 Y@
(4 fag
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 1, Option ID : -497

Question ID:- 126

The angles (30 —a)° and (125 + 2a)° are supplement to each other. Value of “a’ is :
(1) 20°

(2) 35°
(3) 40°
@) 25°

I (30 —a)° 3 (125+ 2a)° TH 8 % HYLH HI0 &1 ‘2’ 1 OH € :

(1) 20°
(2) 35°
(3) 40°
4 25°
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
. 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 4, Option ID : -504

Question ID:- 127

Which of the following statements is true ?
(1) If x° is the measure of an angle which is equal to its complement and y° is the measure of an

angle which is equal to its supplement, then E 0:5.
yc
(2) In a triangle ABC, if ZB > ZC then AB > AC.
(3) Length of the median in a triangle to a side is less than the corresponding altitude.



https://aview.in/
https://aview.in/category/previous-papers/

Trefafaa § 9 [ & %9 9el 8 ?
(1) 3 x> 39 101 1 H9 € S 5 197 I FI07 6 SR T 377 2 39 F01 F 69§ S F o Hyew

101 3 T F AL @ ;_ — 058

(2) T s ABCH afg £B > ZC® WAB>ACRI
(3) Wk 1Y = Hifearen i e, 39k Hid vders ¥ %9 gl 2

(4) T @ |, TG WErsi % g Uiaese Hl ¢ | W@ 1% U B S % 9ed: Hvil ST 41 5
T 1 FEd Bl HI0 H HY 70° ¥

Options:-

.1, Option ID :- 505,
. 2, Option ID :- 506,
. 3, Option ID :- 507,

. 4, Option ID :- 508,
Answer Given:- 1, Option ID : -505

Question ID:- 128

In the figure, AB||PO and BC||OQ. Value of 2x—y is :
A

L

Q 0
(1) 50°
(2) 80°
(3) 130°
@) 100°

Q
1) 50°
) 80°
) 130°
) 100°
Options:-
.1, Option ID :- 509,
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. 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 1, Option ID : -509

Question ID:- 129

The angles of a triangle are in the ratio4 : 5 : 6. The difference of largest and smallest angle is :
(1) 48°

(2) 30°
(3) 24°
4) 36°

(1) 48°
(2) 30°
(3) 24°
(4) 36°
Options:-

.1, Option ID :- 513,
. 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130

In the figure, AB||CD. If ZABC=105°, £BED =3(", then value of ZCDE=a is :
A C

(1) 105°
(2) 135°
(3) 115°
(4) 75°
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HHfd H AB||CD €1 3fg ZLABC=105°, /ZBED=30° & @ ZCDE=a 7% :
A C

DLha

105°

B 30°
E
(1) 105°
(2) 135°
(3) 115°
(4) 75°
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

In the figure, AB=AC, ZACD=115°. ZA is equal to:

A
115°

4 2——D

(1) 45°

(2) 55°

(3) 50°

@) 40°

e § AB=AC, ZACD=115° 8| ZAH A & :

A
115°

B c D

(1) 45°

(2) 55°

(3) 50°

(4) 40°

Options:-
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.1, Option ID :- 521,
. 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 3, Option ID : -523

Question ID:- 132

Which of the following statements is wrong ?

(1) If the corresponding sides of two similar triangles are in the ratio 5 : 7, then their perimeters
are in the ratio 5 : 7.
(2) If the corresponding sides of two similar triangles are in the ratio 4 : 3, then their area are in
the ratio 4 : 3.
(3) If the ratio of the corresponding sides of two similar triangles is 3 : 5, then the ratio of their
corresponding altitudes is 3 : 5.
(4) In two similar triangles, if the ratio of their corresponding medians is 7 : 5, then the ratio of
their corresponding altitudes is 7 : 5.
Frefafad ol 3 8 F 91 7o 8 2
(1) afe 2 gy Bsi & Sd e 5: 7 % STE § €, o1 37 GREmdi %1 79 5 7 2
(2) afg < goEw Fysi &1 T SO 4 : 3% ST9d | €, o 3 Ahall § ST 4¢3 3 |
(3) afe g1 HuEy Bys =i Wd Yl § U 3: 5 8, a1 37 HId vitueisl § 19 3 1 5 B
(4) 2 wwey s # afg 39 dra ot 7: 5% 7o | €, a1 39 9 eidefdl | eaa 705
B |
Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 2, Option ID : -526

Question ID:- 133

In AABC, AC2=2AB? and AB= BC, then £C equals :

(1)
(2)
(3)
(4)

90°
60°
45°

30°

AABC H, AC2=2AB2d91 AB=BC, ZC & UH % :

(1)
(2)
®)
(4)

90°
60°
45°
30° %
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Options:-

.1, Option ID :- 529,
. 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 1, Option ID : -529

Question ID:- 134

In figure, line [ is the bisector of ZA. If AO=5 cm and AP=4 cm, then OQ is equal to :

Q
o 1
A P
(1) 4cm
(2) 3 am
(3) 5cm
(4) 2em

o °, £A %1 gufgasss W@ [ €1 3 AO=5cm 3 AP=4cm &, 91 0Q T+ ¢ :

Q
o 1
A ¥
(1) 4cm
(2) 3cm
(3) 5am
(4) 2ecm
Options:-

.1, Option ID :- 533,
. 2, Option ID :- 534,
. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135
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In triangle ABC and DEC (see figure) if AB||ED, then AABC and ADEC are :

D
(1) similar
(2) congruent
(3) both similar and congruent
(4) neither similar nor congruent

st ABC 3 DEC (eT%fa *fam) # afs AB||ED 2, @1 AABC iR ADEC :

D

(1) TEHYZI

(2) TATEAZI

(3) ey IR gafrE S E

(4) A9 gIEY T 3R 7 & gaEy T |
Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
. 3, Option ID :- 539,

. 4, Option ID :- 540,
Answer Given:- 1, Option ID : -537

Question ID:- 136

Two buildings are standing opposite to each other on either side of the road. From a point on the
road, ladder reaches building’s window which is 12 m high from the ground. Keeping the foot of
the ladder at the same point, the ladder is turned on the other side of the road and it reaches a
window which is 9 m high from the ground. If the length of the ladder is 15 m, then the width of
the road (in m) is :

(1) 18
(2) 24
3) 21
(

4) 25
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HEH o SHI S 3HT FHH & a9 ¢ | T T fopet folg & i, o =1 fags! w wga ot € =71 fok vfH
¥ 12 m € W TG F e i IH f6g W Uere Y gHT AR W@ 6 €, 9 98 9fH ¥ 9 m SEE @
Taest W vET 9 7 | afg Hid #t @arE 15 m ®, 9 9gF i el (mH) ¥ -

(1) 18
2) 24
(3) 21
(4) 25

Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 3, Option ID : -543

Question ID:- 137

In a triangle ABC, PQ is drawn parallel to BC such that points P and Q lie on AB and AC
respectively. If PQ: BC=2:5, then AP : PB is :

m 2
@ 2
@ 3
@ 2

T& f3yst ABC ®, PQ 3l BC % HHiE 39 YR @il 71 € f&F P 3R Q %99: AB $iR AC W fiom €1 afg
PQ:BC=2:5% @ AP:PB % :

m 2
@ 2
® 1
(4) ;
Options:-

.1, Option ID :- 545,
. 2, Option ID :- 546,
. 3, Option ID :- 547,
. 4, Option ID :- 548,
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Answer Given:- 1, Option ID : -545

(3)

(4)

Question ID:- 138

Which of the following statements is not true ?

(I) A square is a rectang]le.

(2) If an angle of a parallelogram is one right angle, then each of the remaining angles is also a
right angle.

(3)  If the diagonal of a parallelogram divides it into two isosceles triangle, then the parallelogram
is a thombus

(4) The opposite angles of a parallelogram are bisected by its diagonals.

11 el H | &9 | Hel TR ¢ 2

(1) U% & U I & & |

(2) Afe THi S F1 TF FI0 TR S0 &, A AT F T H o TR EA F

7fg e i TS @ fawvl 38 < wafgag B § fowfaa #war & @ g =9gds e
=S BB |
TR FqS & GEgE w0l i 39k faeol gafganfed w €1

Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
. 3, Option ID :- 551,
- 4, Option ID :- 552,

Answer Given:- 3, Option ID : -551

(1)
(2
)
(4)

()
(2)
)
(4)

Question ID:- 139

In a quadrilateral PORS, ZP+£ZR=3 (£Q+ £S). If £ZP=120", then measure of ZRis :

1207
130°
150°
100°

T TGS PQRS H, ZP+£R=3 (£LQ+£5) 14 ZP=120° %, WLR FI AU % :

120°
130°
150°
100°

Options:-

.1, Option ID :- 553,
. 2, Option ID :- 554,
. 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 3, Option ID : -555
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Question ID:- 140

Two consecutive angles of a parallelogram are (x+60)" and (2x+30)°. This parallelogram can be
called :

(1) square

(2) rectangle
(3) rhombus
(4) Kkite

e FHITE TGS & S HHERT B0 (x + 60)° 3T (2x +30)° ¥ | 39 FHIR FgH 1 a1 5 Hbel © ¢
(1) o

(2) &AM™Ed
(3) WS
(4) T
Options:-

.1, Option ID :- 557,
. 2, Option ID :- 558,
. 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141

ABCD is a quadrilateral in which AB=BC and AD=DC. If ZABC=100" and ZADC=40°, then
Z/BCD will measure.

(1) 140°
(2) 100°
(3) 110°
(4) 105°

ABCD 1% =gy« ¥ 598 AB=BC 3R AD=DC %1 afg ZABC=100° 3R ZADC=40° ¥, @ £BCD
FHIHMGE :

(1) 140°
(2) 100°
(3) 110°
(4) 105°
Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563
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Question ID:- 142

If AABC ~ AQRP, 2 (AABC) _ 9 'Ag_18 cm and BC=15 cm, then PR is equal to :
ar (PQR) 4
(I) 8cem
21
2 — cm
(2) =
(3) 10 cm
(4 12cm

Ifz AABC ~ AQRP, &1 (AABC) _ 9 \p_ 18 3wt go BC =15 Tl &1 PR SR &
I

ar (PQR)
(1) 894t
o
(2) I@fr
(3) 10 H
(4) 12 9t
Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143

In the figure, ABCD is a rectangle. Sum of lengths of the two diagonals is 100 cm and E is a point
on AB such that OE_LAB. If OE=7 cm, then length of rectangle (in cm) is :

D C

0
A E B
(1) 24
(2) 48
(3) 36
(4) 40
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T 8, ABCD U# 39 ¢ | 39 21 faahvil &1 @wargdl &1 4R 100 cm & iR fdg B, AB T 39 U&R
ford € fF OELABR 1 If€OE=7 cm &, 91 3119d &l &g (cm H) © :

D C
O
A E B
(1) 24
(2) 48
(3) 36
(4) 40
Options:-

.1, Option ID :- 569,
- 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570

Question ID:- 144

In a circle of radius 5 cm, two tangents are drawn from on external point A. If these two tangents
are inclined to each other at an angle of 60°, then length of each tangent is :

; B

(1) B cm
(2) 5 JE cm
(3) 5 \E cm
(4) % em

T 5 cm 50 At 9w & @en: fag A 9 1 vt Yt =i 6 € / afe e S w1l W@ T 600 & i
TR g g3 & v ol Y i e ©

(1) % cm
(2) 542 cm
3) 53cm
5
(4) ﬁ an
Options:-

.1, Option ID :- 573,
. 2, Option ID :- 574,
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. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

In a circle of radius 5 cm, point P is at a distance of 13 cm from centre O. Pair of tangents PQ and
PR are drawn to the circle. Area of quadrilateral PQOR (in cm?) is :

(1) 60
2) 30
(3) 65
4) 75

T 5 cm TS5 ot 99 8 fag P, 8 O ¥ 13 cm 1 T W foorg 7199 R omf @ PQ 4R PR @it T
21 9gYs PQOR 1 &%t (cm? ) T :

(1) 60
(2) 30
(3) 65
4) 75

Options:-

.1, Option ID :- 577,
. 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577

Question ID:- 146

In the given figure, O is centre of a circle. PQ is a chord and PR is tangent at point P on circle. If
ZLRPQ=40° , then ZPOQ is :

(1) 110°
(2) 90°
(3) 100°
(4) 80°
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feu 7 fom #, 99 %1 F% O %1 PQ U Siian ¥ iR g9 % fa5 P W PR U o99f 3@ ® 1 9f% ZLRPQ=40° 3,
?ﬁZPOQ%:

P
INCR
Q
) TR
(2) 90°
(3) 100°
(4) 80°
Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147

In the figure, AB and CD are equal chords of a circle with cenfre O. If AB= (7x +6) cm, CD = (4x +9)
cm, ZAOB= (12y —4x +3)° and ZCOD = (10y+11)°, then value of x and y are :

s
)
(1) x=2,y=3
(2) x=1,y=6
(3) x=1,y=4
(4 x=3,y=6

fou mu o= §, O %= & & 94, § AB 3IRCD & 99F Sian /4 AB = (7x+6) cm, CD = (4x+9) cm,
ZAOB=(12y —4x +3)° 3R ZCOD= 10y +11)° %, & x 3 y o AF 7 :
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.1, Option ID :- 585,
« 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

In a cyclic quadrilateral ABCD, if ZADB=30" and ZDCA=70°, then ZDAB is :

(1) 80°
(2) 90°
(3) 100°
4) 110°

T 9%d F94s ABCD H, ZADB=3(° 3R ZDCA=70°% dl ZDAB® :

(1) 80°
@) 90°
(3) 100°
(4)  110°

Options:-
.1, Option ID :- 589,

. 2, Option ID :- 590,
. 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149

In the figure, O is the centre of a circle and AB,BC are two chords of a circle. If ZBCO=40", the
values of x and y are :

E
i =
40°
(1) x=50°, y=40°
(2) x=40°, y=30°
(3) x=25°, y=20°
(4) x=25°, y=25°
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T mu fomt #, 99 &1 %% O T 3R g9 &I &1 Sfia AB 3R BC € 14f§ ZBCO=40°%, & x 3Ry &1 °4H
®:

40°

(1) x=50°, y=40°
(2) x=40°, y=30°
(3) x=25°, y=20°
(4) x=25° y=25°

Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150

Area of an isosceles right triangle is 8 cm?. Length of hypotenuse (in cm) is :

(1) 16
(2) 32
(3) 48
(4) 24

T gufgarg GuaoT s %1 9% 8 cm? ¥ 1 0 &l @6 (cm ) T

(1) 16
2) 32
(3) 48
4) 24
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 2, Option ID : -598

Question ID:- 151
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The side of a thombus is 30 m and its one diagonal is 48 m. Area of thombus (in m?) is :
(1) 648

(2) 864
(3) 432
@) 718

T FHAGYS I S 30 m § 37 39 U faamvi 48 m € | Au=geS &1 dEwe (m? H) §
(1) 648

(2) 864
(3) 432
(4) 718

Options:-

.1, Option ID :- 601,
. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152

Two circular parks are of radius 16 m and 12 m. A third park is to be built such that its area is
equal to the sum of earlier parks. The diameter of new park (in m) is :

(1) 28
(2) 40
(3) 34
4) 30

Tl IR UThT h! FHd 16 m 3R 12 m § | U 15R1 Wik 39 YehI o1 SATE ST © o S9ehT awet Jee
Sl UTeRT % ARTHE % THH 2 ST | 7T U 1 2=H (mH) T

(1) 28
(2) 40
(3) 34
(4) 30

Options:-

.1, Option ID :- 605,
. 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 2, Option ID : -606

Question ID:- 153
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In a circle of radius 14 cm, the length of the arc is 22 cm. The area of segment corresponding to this
arc (in cm?) is :

(1) 48
(2) 98
(3) 56
(4) 66

T# 14 cm F 55901 916 990 | T =19 H AT 22 cm ® | 39 A9 F GG gHEE F A (cm? H) T
(1) 48

(2) 98
(3) 56
(4) 66

Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

- 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

Question ID:- 154

Four circular card board pieces of radii 7 cm are placed on a paper in such a way that each piece
touch other two pieces (see figure). The area of the shaded region (in cm?) is :

(1) 28
(2 35
(3) 42

(4) 49
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7 em T3 AT =R IR T 3 2Rl il U ShTS W 3 WeRR T 71 © o Uedish gohel it €1 ghel
st e ¢ | (Foa <) smEifed anT &1 e (em2H) ®

,_..
e
= LI R
(Lo B S 5 B o

A e
H=

2
3
) 49
Options:- x
.1, Option ID :- 613,

. 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 2, Option ID : -614

Question ID:- 155

A ring is formed between two concentric circles. The radius of inner circle is 17.5 cm and area of
outer circle is 1386 cm2, Width of the ring is :

(1) 35cm

(2) 32cm
(3) 3.1cm
(4) 3.6 cm

T Hehet g1 & o= H U el €1 3y are 99 i 3 17,5 om R SR 9 99 A9 1386
em? 139 for =i <rerE 7

(1) 35cm

(2) 32cm

(3) 31cm

(4) 3.6 cm
Options:- \
.1, Option ID :- 617,

« 2, Option ID :- 618,
. 3, Option ID :- 619,

. 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618

Question ID:- 156
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If each edge of a cube is increased by 50%, the percentage increase in volume of the cube is :
(1) 225.5%

(2) 150%
(3) 237.5%
(4) 125%

Ffe Teh BF 1 e N i 50% =@ {2 S, 1 B 6 A W wiove gfg g
(1) 2255%

(2) 150%
(3) 237.5%
(4 125%

Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question ID:- 157

Two cones with same base diameter 14 cm and height 15 cm are joined together along their bases.
The volume of shape so formed is :

(1) 860 cm3

(2) 1540 cm?
(3) 6160 cm?
(4) 770 ecm?

T SER F 14 cm AW 3R 15 cm S48 916t < kel H1 37 el 9 sits ez 720 81 39 wehR s+l
ST T AT T

(1) 860 cm?

(2) 1540 cm?

(3) 6160 cm?

(4) 770 cm?

Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158
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A solid metallic hemisphere of radius 8 cm is melted and recast into small spheres of radius 2 cm
each. Number of small spheres is :

(1) 8
(2) 16
(3) 64
(4) 32

T 8 om 5541 aTel 219 91q & 24Tl =1 foeret = 39 S12-81< 2 om 5 a1t el § <& ere T4 |
BIE el T HEA ©

(1) 8
(2) 16
(3) 64
(4) 32

Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 4, Option ID : -632

Question ID:- 159

The radii of bases of cone and cylinder are in the ratio 4 : 3 and their heights are in the ratio 3 : 2,
then ratio between the volume of cone to volume of cylinder is :

(1) 9:8
2 8:9
3) 7:5
4 5:7

Yigh 3iR SE & NURi &1 el § o199 4 : 3 % o 3791 S=Ea 3: 2% U H €, @ UF & AFw
AR e F T H1 T €

(1) 9:8
(2) 8:9
(3) 7:5
(4 5:7

Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 2, Option ID : -634

Question ID:- 160
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The largest sphere is carved out of a solid cube of side 21 cm. The surface area of sphere (in cm?)

183

(1) 1386
(2) 693
(3) 1848
(4) 924

21 cm Y51 A1 W 39 B9 H H W@Ig & Tk Hod =] el FHeared 741 | et 1 goid 3% (cm2H) €

(1) 1386
(2) 693
(3) 1848
(4) 924

Options:-

.1, Option ID :- 637,
. 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 1, Option ID : -637

Question ID:- 161

The sum of the radius of base and height of a solid right circular cylinder is 37 cm. If the total
surface area of the solid cylinder is 1628 cm?2, the volume of cylinder (in cm?) is

(1) 3680

(2) 4620
(3) 6420
(4) 5640

T 3 @9 FAHR g i B R T3 #9037 om B AR 3 9 # §y0f geE aewa
1628 ¢m?2 %, 1 sIer &1 AT (cm3H) # :

(1) 3680
(2) 4620
(3) 6420
(4) 5640
Options:-

.1, Option ID :- 641,
. 2, Option ID :- 642,
. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162
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A histogram is to be drawn for following frequency distribution

Class Interval | 5-10 | 10-15 | 15-25 | 25-45 | 45-75

Frequency 6 12 10 8 15

The adjusted frequency for class interval 15 - 25 will be :

(1) 2
2 5
3) 3
(4) 4

T grERaT ded & fau stem g s s ©

1 STaUeA 5-10 [ 10-15 | 15-25 | 25-45 [ 45-75

CHGIEGI 6 12 10 8 15

1) 2
2 5
3 3
(4) 4

Options:-

.1, Option ID :- 645,
. 2, Option ID :- 646,
. 3, Option ID :- 647,

. 4, Option ID :- 648,
Answer Given:- 2, Option ID : -646

Question ID:- 163

The mean of 100 observations is 60. If one of observation 60 is replaced by 210, the new mean will

(1) 60.5
2) 61
(3) 61.5
(4) 62

100 J&oii =1 |15 60 B | = T HaT91 60 i 210 | 95 fear sie, &t 7= Jreg 8@

(1) 60.5
2) 61
3) 61.5
4) 62

Options:-
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.1, Option ID :- 649,
« 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 3, Option ID : -651

Question ID:- 164

The width of each of five continuous class intervals in a frequency distribution is 5 and lower class
limit of lowest class interval is 25. The upper class limit of the highest class interval will be :

(1) 40
(2) 55
(3) 45
(4) 50

T FRA e § °r9 Tar a7 S{quel o1 91eE 5 ¢ ok Jad ™ & a7 iqie 1 71 a7 @1 25 )
Had F= ot faue H Iud i HAr 2

(1) 40
(2) 55
(3) 45
(4) 50

Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
. 3, Option ID :- 655,

. 4, Option ID :- 656,
Answer Given:- 4, Option ID : -656

Question ID:- 165

The mode of the following frequency distribution is :

Class Interval Frequency
0-10 8
10-20 10
20-30 10
30-40 16
40-50 12
50-60 6
60-70 7

(1) 34
(2) 36
(3) 38
(4) 35
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1 SR Elelia]
0-10 8
10-20 10
20-30 10
30-40 16
40-50 12
50-60 6
60-70 7

(1) 34

(2) 36

(3) 38

(4) 35

Options:-

.1, Option ID :- 657,
. 2, Option ID :- 658,
. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657

Question ID:- 166

For the frequency distribution :

Age (in years) |Frequency
0-10 5
10-20 25
20-30 25
3040 18
40-50 7

median is :
(1) 25
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A (I #H) | FHeRa
0-10 5
10-20 25
20-30 25
30-40 18
40-50 7

T HIETF &

(1) 25

(2) 26

(3) 22

(4) 24

Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167

The point of intersection of “the less than type” and of the ‘more than type” ogives is :

(29.6, 45.2). This indicates :
(1) Median=29.6

(2) Mode=39.9

(3) Median=45.2

(4) Mean=29.6

‘| T YRR AR’ SR A yeR # A’ w giiesed fig (296, 45.2) ® | A% Hohd A1 € -

(1) WFF=29.6
(2) wgeieh =39.9
(3) HIEH =45.2
(4) HIF=29.6

Options:- %
.1, Option ID :- 665,
« 2, Option ID :- 666,

. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 2, Option ID : -666

Question ID:- 168
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A bag contains 12 balls out of which x are red. One ball is drawn at random from the bag and p
is the probability that it is a red ball. Now 6 more red balls are added to the bag and the probability
of drawing a red ball is 2 p. Number of red balls is :

(1) 6
(2 2
3) 4
4) 3

T ot § 12718 & fomd § ot €1 99 | J1g=s U fie el St € SR 36eh @l @M i Wi
p ¥ 3 96t H 6 R T TS STl St € iR are e fremert st Wi 2 p ¥ 1 @ i w5 e
(1) 6

)

2 2

(3) 4

(4) 3
Options:- (4
.1, Option ID :- 669,

« 2, Option ID :- 670,
. 3, Option ID :- 671,

- 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

Question ID:- 169

From the month of July, whose first day is Monday, a day is selected at random. The probability
that it is not a Monday is :

. 6
G

5
@ 2

26
@ =
9 =

31
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Sl = 79 Y, 59 ggan foT dean 8, agssa Uk e &1 99a foma i1 € | wifesa o 98 S @l
TR

m =
@ 2
@ =
(4) %
Options:-

.1, Option ID :- 673,
« 2, Option ID :- 674,
. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 3, Option ID : -675

Question ID:- 170

A biased dice was rolled 600 times. The frequencies of the various outcomes are given in the
following table :

Outcome 1 2 3 4 5 6

Frequency 160 130 120 50 60 80

Now the dice is rolled once, the probability of getting a number which is a perfect square is :

(1) %
@ =
® =
@
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T A 9 T 600 TR TR T | 39 fafay afomi &1 srema i e aifersn § ez T 2

qftoTH 1 2 3 4 5 6
AR 160 130 120 50 60 80
39 9 I UH TR G T, 1 Wik f e gof el gra g, #
1
fy =
0 =
5 13
2y =2
(2) 5
4
3 2
& =
7
gy
(4) o
Options:-

.1, Option ID :- 677,
« 2, Option ID :- 678,
. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Question ID:- 171

A school has 4 clubs A, B, C and D. X class has 30 students. Its 6 students are in club A, 7 in club
B, 2 in club C and rest in D. A single student is selected at random from the class to act as class-
monitor. The probability that the selected student is from club A or D is :

O

)

(1) g
1
(2) %
3 1
5

17

(4) o
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TF faaeEa H45d A, B,CARD B I FA IXH I DHE I THF 6D Fd A H, 7FAa BH, 2@ CH
SR 9 g DY 2 | Uk 27kl O o1 A5l 9 el H § sheq "}l & faw = fammn wan | wifaea fw
IS AT DI 4§ 2

: 7
I -
(1) =
1
2 =
(2) 5
3 1L
5
17
4
(4) 20
Options:-

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 1, Option ID : -681

Question ID:- 172

A box contains discs numbered from 10 to 90. If one disc is drawn at random from the box, the
probability that its number on the disc is having both digits prime, is :

™ 3
(2) 8—41
® o
(4) %

T o | 10 § 90 9o w1 ifera Hesil are few €1 3 afeq ¥ & ag=sa v few #1 femen =i,
ot wifereran for 58 W sifra e 3 SH S Ausa €, #

G
@ =
® o
(4) %
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Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

All the red face cards are removed from a pack of 52 playing cards. A card is drawn at random
from the remaining cards, after reshuffling them. The probability that the card drawn is a face
card is :

@ =
® =
O

52 Ul @i o191 skl TG H H Wt ATl =8 del g ol feaTel femn T | e gwi w6 Wed o 9e ¥ H U
T 9 Ag=sn FemTen T | Wi fE T SE 9o e

m =
@ 2
® -
(4) %
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174
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If cosech +cot® = p, then p2 — equals :
p-+1
(1) cosb
(2) sinb
(3) tan®
(4) cotb
il
7fg cosec9+cot9=p,?h 2 41 TR 2 :
p?
(1) cost
(2) sinb
(3) tan®
(4) cotd
Options:-

.1, Option ID :- 693,
. 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 1, Option ID : -693

Question ID:- 175

If tan® —cotf =5, then value of tan 0 —cot20 is :

(1) 135
2) 110
3) 115
@) 140

?ﬁ%\' tanf —coth =5 % Tl tan®0 — cot>0 _b* :

(1) 135
(2) 110
(3) 115
(4) 140

Options:-

.1, Option ID :- 697,
. 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697

Question ID:- 176
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In a right angled triangle ABC, £ZB=90" and £C is acute angle. Value of sinC +cosC is :
(1) more than 1

(2) 1

(3) less than 1 but more than %

; 1
4) -

T G F1Ys ABCH £B=90° 3R 2C T&F =A F 8 | sinC +cosC 1 AH © :
(1) 19 eifemm
2) 1

(3) TFFFH R %ﬁaqf%

@ =

2
Options:-

.1, Option ID :- 701,
. 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

Value of cos?d (1+ tan?0) is :

(1) cos*®

(2) cos?.sin9
3 1

(4) cosb

c0s20 (1 + tan?6) T H ®:

(1) cos*®

(2) cos20.sin20

3 1

(4) cosB
Options:-

.1, Option ID :- 705,
. 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 1, Option ID : -705
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Question ID:- 178

If sinf + cosh =1, then value of 4sinf.cosh is :

) 1
2
@ =
3
(3) -
4) 0

() 1
2
(2) %
3
(3) =
(4 0
Options:-

.1, Option ID :- 709,
. 2, Option ID :- 710,
. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 4, Option ID : -712

Question ID:- 179

A kite is flying at a height of 30 m from the ground. The length of string from kite to the ground is
60 m. Assuming that there is no slackness in the string, the angle of elevation of kite at the ground
8y

(1) 90°
2) 30°
(3) 45°
(4)  60°

T AT 4fH & 30 m 39E WIS W R 96T F f 95 S/ A @ 60 m |38 A g R 2/ H
e el &, Y | e 1 3HA R0 T

(1) 90°
(2) 30°
(3) 45°
(4) 60°

Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,



https://aview.in/
https://aview.in/category/previous-papers/

. 3, Option ID :- 715,

- 4, Option ID :- 716,
Answer Given:- 2, Option ID : -714

Question ID:- 180

A man standing on the top of 50 m high tower, observes two cars on the opposite sides of the
tower with angles of depression 30“and 45° respectively. The distance between the two cars is :

(1) 150 m

(2) 50

50 m 59 AT % WY W @Sl SeH! 2@ i faadia feenedli § €1 FHi % oraTaq FIm FHE: 30° 3 45°
W%Iaﬁm%ﬁﬂaﬁiﬁ%

(1) 150 HieX
P
(2) 50 [JE + ﬁ] HieX

(3) 50 (1++3) e

Options:-

.1, Option ID :- 717,
. 2, Option ID :- 718,
. 3, Option ID :- 719,

- 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719
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